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(vinn)
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Q.1
Sol.

Q.2
Sol.

Q.3
Sol.

Q4
Sol.

=a'+ b'+ Jab(a + b)

(a-b)’ =a' = 3a’b 4 3ak? - b’
a' = b’ = Jaba-b)

a' + b =(a+ b)a’ - ab 4 h?)

a' -~ bl = (a=b)a’4 ab + b?)

Solve the following questions using formulas.

(x +2p) + (x - 2)?

= 2[(x)* + (2v)*] [Formula: (a+ b)* + (a- b)? = 2(a? + b7)]
=2[x% + 47)

=277 + 8)2

(5x + 3y)F + (5x - 3y)?

< 2[(5x)* + (3v)?][Formula: (a + b)? 4 (a - b)? = 2(a’ + b))
= 2[25¢% + 947

= 5057 + 187

(374 2m) = (31 = 2m)?

= 4370 2m) [Formula: (a+ b)? = (a- b)? = dab]
= 24/m

(L + )l = m)P* + m*)H+ md)

=[(I+ m)! =m)YP + m? WP+ m¥)
[Formula: (a+ b)(a-b) = a’ = b’
= (P =m?uR 4+ m*)H + m*)
= [(F)? - (m?y)(H + m?)
= (P =m*WH + %)
= (1) - (m*)? !
= -mt |
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Q.5
Sol.

Q.6
Sol.

Q.7
Sol.

Q8
Sol.

Q.9
Sol.

Q.10
Sol.

[uh - —I-]
ab

\

[Formula: (a- b)* =a’ - 3a’b + 3ab’ - b’

. 1) 1Y (1Y
(ab)' =3 ab)' | — | +3ab| —]| -| —

= ab’ —3ub+-§—- :
ab a'b’
(2x + 3y +2)?
[(a+b+c)l=a’+Lb +c?+2ab+ 2bc+ 2ca]
= (2x)2 + (3y)? + (2)2 + 2(2x)(3p) + 2(3¥)(2) + 2(2NXx)

=4x2+ 92 +4+ 120y + 12y + 8x
ep+q)

I

[Formula: (a + b)? = a’ + 3a’b + 3ab’ + b’]
= (2p)* + 32p)(@) + 32p)@) + (@)° |
=8p’ + 3(4p’)(Q) + 6pq’ + @’
=8p’ + 12p’q + 6pq’ + ¢’
Bp+q+r)

[Formula: (a+ b+ c)=a’+ b2 + ¢ + 2ab + 2bc + 2ca]
= (3p)? + (@)% + (r)? + 2(3p)(q) + 2(q)(r) + 2(r)(3p)
=9p2+q?+r’ +6pq + 2qr + 6rp
(2x + 3y)’

[Formula: (a + b)} = a3 + 3a’b + 3ab’ + b’]
= (2x)® + 3(207(3y) + 3(2xX3y)2 + By)°
= 83 + 3(42)(3y) + (NP + 9
= 8x° + 3627y + 5407 + 9)°
(x+yy-1
=(x+y)’ -1y
[Formula: a’ = b’ = (a - b)(a® + ab *+ b?)]
=(x+y-Dx+y)?+x+yD)+ (1))
=(x+y-D2+y+Dy+xty+l]
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Q.11 (x- ¥y + 64
Sol. = (x -y)} + (4)°
[Formula: a’ + b* = (a + b)(a® - ab + b?)]
=y -2 - (- p)E@) + ()]
=(x =y +4)(x? +y2 +2yy=4x+ 4y + 16)
Q.12 87 +27)
Sol. = (2x) + (3y)}
[Formula: a* + b* = (a + b)(a? - ab + b))
= (2x + 3y)[(2x)? - (20)(3y) + (3y)?]
= (2x + 3y)(4x? - 6y + 9?)
Q.13 X% - 7298
Sol.  =()Y-27)%)? (Formula: a? - b2 = (a + b)(a - b)]
= (2 +21°(3 - 279 '
=[x + PN - (3
(Formulas)
a'+ b’ = (a+ b)(a? - ab + b?)
a’ - b’ = (a-b)(aZ+ab +b?)
= (x+3p)? = 3xp + 9)2) (x - 3 + 3y + 97)
=+ 3)(x = 3y)a? - 3y + 92 + 3y + 9y2)
Q.14 64a®-b®
Sol. =(8a’)? - (b?)?
=(8a’ - b')(8a’ +b%)  [Formula: a2 - b? = (a=-b)a+b)
=[(2a)’ - (b)*)[(2a)* + (b)’)
ad+b'=(a+ b)(aZ - ab + b?)
(Formulas)
a’-b’=(a-b)al +ab +b?)
= (22~ b)(4a? + 2ab + b?)(2a + b)(4a? - 2ab + b?)
= (2a - b)(2a + b)(4a? + 2ab + b2)4a? - 2ab + b?)
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Sol.

Find the valuc of a' =b* when a=b =4 and ab = -_§,
a-bh = 4

ab = =3

al=bht =7

a-b =

(-t = Takmg cube
at = bt - 3(-5)4) = 64

a'=b'+ 60 =64

at=bt =64-060

V- bt =4

| s | :
Show that |2+ ~-| -lz--]| =4
4 z

3] -3

LIS S|4+ —] =|2Z2=—

/ rd
/'*Zm[-[]wl—.]—[z:-21:1[1]+—|:]
k / A / Fa
:“P:*‘!:]‘[f’-:#-l—,]

\ ‘ ¢

’ +3+—-;—f:+2-—|.—
7 z
-4 -RHS
Find the value of 8> + b and ab when g + b = 3 and
a=-b=3

arkb -3
a=-h =}
RN R
ah 'y

Iormula
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g - —

Thus,

(a+b) +(a-b)® =2 +b?

(5)2 +(3)? =2(a’ + b%)

25+9 =2(a’ + b?)

34 =2(a’ +b%)

a’ +b? = 3?4- =17
Formula: (a+b)2-(a-b)? =4ab

(5)* - (3) = dab

25-9 = 4ab

4ab = IG

16
ab - 'I'
ab -

Q.18

Sol.

Q.19
Sol.

Find the value of a? +b? + c*ifab + be + ¢ca =11 and
atb+c=6

atb+c =6

ab +bc+ca =11

7 p. 2
ac+b-+c =7

atboc =6
(a+b+c)y> =(6) Taking square root
a’+b>+ ¢+ 2(ab +bc it ca) =36
- By putting values ab +bc +ca = ||
a*+bi+cl+2(11) =36
al +b? +c?+ 22 =36
a’ + b+’ =36-22
al bl el =14

Find the value of A° +y3 ilf xy = 10 and x ty =1,

Xty =7

AV =10
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Q.20
Sol.

Q.21

Sol.

‘_J + ‘1 =9
x+y =17
(x +y) = (7)° Taking cube

X4y 3o ty) =343

4P +I0)(T) =343

©+;, +210 =343

x -y =343 -210

2 +y =133

Find the value of (x — y)? if x* + y* = 86 and xy = =16,
xy ==-16 (1)

2 +)? =86 (i1)

(x-yy =?

(x-yF =Xy -y
= (& +y") - 2()
=86 - 2(~16) From (i) and (n)
=86 + 32
=118

Find the value of ab + bc + ca when the values of

al+bi+cl=8l,a+b+c=11

at+b+c 3 | T—— (1)
a?+b?+c? =8l....... (i)
ab+bc+ca ="
a+b+c =11

(a+b+c)? =(11) Taking square root
al+bl+ci+2(ab+bc+ca) =121

81 + 2(ab + bc + ca) =121 | from (11)
2(ab + bc + ca) =121 - 81

2(ab + bc + ca) =40
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Q.22

Sol.

Q.1

(1)
Sol.

aby + be v e

ab ¢ be ¢ ea 20
Find the valuc of (a + 1y + ¢)? when the values of

al +bhis cl=32 and ab + be + ca =17,

ab + be +¢ca =7 (1)

a’+bl 42 =732 (ii)

(a+b+¢)? =9

(a+b+c)y = az+b2+c2+2(uh+bc + ca)
=32+2(D From (1) and (i1)
=32+ 14

(a+b+c)’ =46
Laws of Radicals

i (Ya) =a (i)  %ab=vtavh

. o[y . |
(iii) E=i‘—§- v (Ve =¥an
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